

#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 16, 2024

Progress Estimate Number 11	Contract ID Prime Contractor	240119-D03 Concrete Strategies, LLC	December 15, 2024	Original Contract Amount Net Change Order Amount Current Contract Amount	\$265,951.83

Approval Date		By User
December 16, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	stokez1
December 16, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	beckc2
December 17, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
December 1, 2024	December 1, 2024	November 26, 2024	98.45%

#### Contract Informational Dates Milestones

Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	February 14, 2024	February 14, 2024
Letting Date	January 19, 2024	January 19, 2024
Notice to Proceed Date	March 11, 2024	March 11, 2024
Open to Traffic Date	November 26, 2024	November 26, 2024
Work Began Date	July 10, 2024	July 10, 2024

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Milestone - Calendar Time - JSP B - Contract Liquidated Damages J5S3464 Route B	November 27, 2024	November 27, 2024	Milestone Complete	
Milestone - Calendar Time - JSP J - Bridge Closure Days J5P3467	October 12, 2024	November 9, 2024	Milestone Complete	

## Contract Total Pay For Estimate No. 11

240119-D03

Total Posted Items Pay
Gross Item Adjustments
Incentive
Disincentive
Liquidated Damage
Other Contract Adjustments

This Estimate	Previous	To Date	
\$180,565.50	\$3,338,977.94	\$3,519,543.44	
\$0.00	(\$39,707.29)	(\$39,707.29)	
\$0.00	\$0.00	\$0.00	
\$0.00	\$0.00	\$0.00	
\$0.00	\$0.00	\$0.00	
\$0.00	\$0.00	\$0.00	
	\$3,299,270.65	\$3,479,836.15	
\$400 ECE EO			

Contract Total Payable This Estimate: \$180,565.50

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3467	5005	1094000	FORCE ACCOUNT	EA	\$1.000	20,000	\$20,000.00
	5008	1094000	FORCE ACCOUNT	EA	\$1.000	150,000	\$150,000.00
Project J5P3467	' - Total						\$170,000.00
J5S3464	0730	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	LF	\$19.210	550	\$10,565.50
Project J5S3464	- Total						\$10,565.50
Overall - Total							\$180,565.50

#### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

Line Item /	Adjusti	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3467	0170	CONCRETE TRAFFIC BARRIER, TYPE A	MaterialCredit			338	\$115.31	\$38,974.78
	0170	CONCRETE TRAFFIC	Material			-338	\$115.31	(\$38,974.78)

Revision 3/23/2023 Page 1 of 17



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 16, 2024

Progre		imate Number 1	Contract ID Prime Contra	240119-E actor Concrete		Pay Period Start December 2, 2024 CC Pay Period End December 15, 2024 N		r Amount \$	265,951.83
Project Number	Line No.	Item Desc	Item Description		Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3467		BARR	RIER, TYPE A						
Total									\$0.00

Revision 3/23/2023 Page 2 of 17



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information						
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J5P3467	FAF 54-3(210)	2 Bridge rehabilitations	54	COLE	over W. McCarty and Rou	. McCarty and Route 50						
J5S3464	FAS S403(13)	Bridge rehabilitation	В	COLE	over the Moreau River sou	uth of Jefferson City						
Γotals by .	Job Numbe	rs										
J5P3467		d Item Pay Item Adjustme		tem Pay	This Estimate \$170,000.00 \$0.00 \$170,000.00	Previous \$2,388,289.58 (\$39,707.29) \$2,348,582.29	To Date \$2,558,289.58 (\$39,707.29) \$2,518,582.29					
	Liquid	tive entive lated Damages Contract Adjusi	tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J5S3464		d Item Pay Item Adjustme		tem Pay	This Estimate \$10,565.50 \$0.00 <b>\$10,565.50</b>	Previous \$950,688.36 \$0.00 \$950,688.36	To Date \$961,253.86 \$0.00 \$961,253.86					
	Liquid	tive centive lated Damages Contract Adjusi	tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 3/23/2023 Page 3 of 17



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5P3467, Item 6171000, Project Item Line Number 0170, Material Set 617100096, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Stokez1 PAL information is needed	stokez1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J5P3467, Item 6171000, Project Item Line Number 0170, Material Set 617100096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Stokez1 PAL information is needed	stokez1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-D03, Contract Project J5P3467, Project Item Line Number 0180, Contract Line Item Number 0180, Item 6173600D, Minor Item.	Stokez1 Change order is needed.	stokez1	Acknowledged

Revision 3/23/2023 Page 4 of 17



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240119-D03	J5P3467	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$29,661.91	\$29,661.91
		0001	0020	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	6.00	-6.00	0.00	TONS	0.00	\$1,723.62	\$0.00
		0001	0030	4071005	TACK COAT	8.00	0.00	8.00	GAL	8.00	\$28.26	\$226.08
		0001	0040	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	2.00	1.00	3.00	EA	3.00	\$3,390.73	\$10,172.19
		0001	0050	6122020	REPLACEMENT SAND BARREL	4.00	0.00	4.00	EA	0.00	\$339.07	\$0.00
		0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	3.00	\$11,302.42	\$33,907.26
		0001	0070	6161005	CONSTRUCTION SIGNS	2,838.00	-372.00	2,466.00	SQFT	2,466.00	\$6.78	\$16,719.48
		0001	0080	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$113.02	\$904.16
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	97.00	139.00	236.00	EA	236.00	\$22.60	\$5,333.60
		0001	0100	6161030	TYPE III MOVEABLE BARRICADE	13.00	0.00	13.00	EA	13.00	\$12.43	\$161.59
		0001	0110	6161033	DIRECTIONAL INDICATOR BARRICADE	38.00	8.00	46.00	EA	46.00	\$73.47	\$3,379.62
		0001	0120	6161040	FLASHING ARROW PANEL	3.00	1.00	4.00	EA	4.00	\$847.68	\$3,390.72
		0001	0130	6161055	SEQUENTIAL FLASHING WARNING LIGHT	38.00	-10.00	28.00	EA	28.00	\$56.51	\$1,582.28
		0001	0140	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	10.00	0.00	10.00	EA	10.00	\$2,825.61	\$28,256.10
		0001	0150	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	4.00	12.00	EA	12.00	\$904.19	\$10,850.28
		0001	0160	6169901	MISC.WORK ZONE INTELLIGENT TRANSPORTATION SYSTEM	1.00	0.00	1.00	LS	1.00	\$45,209.69	\$45,209.69
		0001	0170	6171000	CONCRETE TRAFFIC BARRIER, TYPE A	338.00	0.00	338.00	LF	338.00	\$115.31	\$38,974.78
		0001	0180	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	5,237.00	-567.00	4,670.00	LF	4,697.00	\$27.13	\$127,429.61
		0001	0183	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	613.00	492.00	1,105.00	LF	1,105.00	\$50.86	\$56,200.30
		0001	0185	6173706	TEMPORARY TRAFFIC BARRIER STIFFNESS TRANSITION SECTION, CONTRACTOR FURNISHED / RETAINED	250.00	50.00	300.00	LF	300.00	\$41.82	\$12,546.00
		0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$329,267.66	\$329,267.66
		0001	0200	6181015	RAILROAD PLAN SUBMITTAL	1.00	0.00	1.00	LS	1.00	\$12,512.36	\$12,512.36
		0001	0210	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	9,790.00	186.00	9,976.00	LF	8,250.56	\$1.13	\$9,323.13
		0001	0220	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8,010.00	0.00	8,010.00	LF	5,905.28	\$1.13	\$6,672.97
		0001	0230	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,838.00	-185.00	1,653.00	LF	1,322.08	\$1.13	\$1,493.9
		0001	0240	6207001	PAVEMENT MARKING REMOVAL	17,271.00	159.00	17,430.00	LF	17,430.00	\$1.13	\$19,695.90
		0001	0250	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	34,480.00	1,595.00	36,075.00	LF	36,075.00	\$1.13	\$40,764.75
		0001	0260	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	75.00	0.00	75.00	SQYD	75.00	\$101.72	\$7,629.00
		0040	0270	9035004A	SH-FLAT SHEET	15.00	0.00	15.00	SQFT	15.00	\$33.91	\$508.65
		0040	0280	9035069A	SHF-FLAT SHEET FLUORESCENT	89.00	0.00	89.00	SQFT	89.00	\$50.86	\$4,526.54
		0070	0290	2161000	SCARIFICATION OF BRIDGE DECK	370.00	0.00	370.00	SQYD	370.00	\$32.46	\$12,010.20
		0070	0300	2161001	TOTAL SURFACE HYDRO DEMOLITION	1,575.00	0.00	1,575.00	SQYD	1,575.00	\$38.27	\$60,275.25
		0070	0310	2161502	REMOVAL OF CONCRETE WEARING SURFACE	10,849.00	0.00	10,849.00	SQFT	10,849.00	\$1.72	\$18,660.28
		0070	0320	2161503	REMOVAL OF EXISTING DECK REPAIR	100.00	126.00	226.00	SQFT	226.00	\$40.43	\$9,137.18
		0070	0330	2163000	PARTIAL REMOVAL OF EXISTING BRIDGE DECK	766.00	-766.00	0.00	SQFT	0.00	\$26.51	\$0.00
		0070	0340	2169903	MISC.PARTIAL REMOVAL OF BOTTOM OF EXISTING BRIDGE DECK	388.00	-388.00	0.00	LF	0.00	\$126.64	\$0.00
		0070	0350	5050004	SUPPLEMENTARY WEARING SURFACE MATERIAL	5.00	19.00	24.00	CY	24.00	\$700.00	\$16,800.00
		0070	0360	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	1,575.00	0.00	1,575.00	SQYD	1,575.00	\$134.78	\$212,278.50
		0070	0370	7031004	DIAMOND GRINDING	1,575.00	-1,575.00	0.00	SQYD	0.00	\$14.98	\$0.00
		0070	0380	7034214	CLASS B-2 CONCRETE	23.60	-23.60	0.00	CUYD	0.00	\$512.52	\$0.00
		0070	0390	7040103	SUPERSTRUCTURE REPAIR (UNFORMED)	50.00	-50.00	0.00	SQFT	0.00	\$258.23	\$0.00
		0070	0400	7040106	FULL DEPTH REPAIR	50.00	-50.00	0.00	SQFT	0.00	\$631.28	\$0.00
		0070	0410	7040112	DECK REPAIR WITH VOID TUBE REPLACEMENT	50.00	-42.00	8.00	SQFT	8.00	\$253.87	\$2,030.96
		0070	0420	7049903	MISC.SUPERSTRUCTURE REPAIR (LONGITUDINAL JOINT)	390.00	-390.00	0.00	LF	0.00	\$79.18	\$0.00

Revision 3/23/2023 Page 5 of 17



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Project Nm.CONTRACT No. Code Description Description Bid Quantity Change Order Quantity Change Order Quantity Order Quantity Order Quantity Order Or

Contract n.CONTRACT	Project No.	Category	No.	Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
119-D03	J5P3467	0070	0430	7101000	REINFORCING STEEL (EPOXY COATED)	5,280.00	0.00	5,280.00	LB	5,280.00	\$3.64	\$19,219.20
		0071	0440	2161000	SCARIFICATION OF BRIDGE DECK	655.00	0.00	655.00	SQYD	655.00	\$32.46	\$21,261.3
		0071	0450	2161001	TOTAL SURFACE HYDRO DEMOLITION	2,796.00	0.00	2,796.00	SQYD	2,796.00	\$38.27	\$107,002.9
		0071	0460	2161502	REMOVAL OF CONCRETE WEARING SURFACE	19,266.00	0.00	19,266.00	SQFT	19,266.00	\$1.72	\$33,137.5
		0071	0470	2161503	REMOVAL OF EXISTING DECK REPAIR	100.00	285.00	385.00	SQFT	248.00	\$40.43	\$10,026.6
		0071	0480	2163000	PARTIAL REMOVAL OF EXISTING BRIDGE DECK	1,419.00	-967.00	452.00	SQFT	452.00	\$26.51	\$11,982.5
		0071	0490	2169903	MISC.PARTIAL REMOVAL OF BOTTOM OF EXISTING BRIDGE DECK	698.00	-698.00	0.00	LF	0.00	\$126.64	\$0.0
		0071	0500	5050004	SUPPLEMENTARY WEARING SURFACE MATERIAL	8.00	96.00	104.00	CY	104.00	\$700.00	\$72,800.0
		0071	0510	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	2,796.00	0.00	2,796.00	SQYD	2,796.00	\$134.78	\$376,844.8
		0071	0520	7031004	DIAMOND GRINDING	2,796.00	-2,796.00	0.00	SQYD	0.00	\$14.98	\$0.
		0071	0530	7034214	CLASS B-2 CONCRETE	52.60	-33.00	19.60	CUYD	19.60	\$512.52	\$10,045.3
		0071	0540	7040103	SUPERSTRUCTURE REPAIR (UNFORMED)	50.00	-50.00	0.00	SQFT	0.00	\$258.23	\$0.0
		0071	0550	7040104	HALF-SOLE REPAIR	50.00	215.00	265.00	SQFT	265.00	\$320.19	\$84,850.3
		0071	0560	7040106	FULL DEPTH REPAIR	50.00	-50.00	0.00	SQFT	0.00	\$631.28	\$0.0
		0071	0570	7040112	DECK REPAIR WITH VOID TUBE REPLACEMENT	50.00	-50.00	0.00	SQFT	0.00	\$253.87	\$0.0
		0071	0580	7049903	MISC.SUPERSTRUCTURE REPAIR (LONGITUDINAL JOINT)	698.00	-698.00	0.00	LF	0.00	\$79.18	\$0.0
		0071	0590	7101000	REINFORCING STEEL (EPOXY COATED)	9,700.00	0.00	9,700.00	LB	9,700.00	\$3.64	\$35,308.0
		0001	5001	6069901	MISC.GUARDRAIL REMOVE AND REPLACE	0.00	2.00	2.00	LS	2.00	\$5,335.00	\$10,670.0
		0001	5002	4019910	MISC.BITUMINOUS PAVEMENT MIXTURE PG6422, (BP-1)	0.00	7.50	7.50	TONS	7.50	\$1,686.28	\$12,647.
		0070	5003	7040104	HALF-SOLE REPAIR	0.00	28.00	28.00	SQFT	28.00	\$320.19	\$8,965.3
		0071	5005	1094000	FORCE ACCOUNT	0.00	250,000.00	250,000.00	EA	250,000.00	\$1.00	\$250,000.0
		0001	5006	6122040	WORK ZONE CRASH CUSHION (NARROW)	0.00	3.00	3.00	EA	3.00	\$10,700.00	\$32,100.0
		0001	5007	5059901		0.00	1.00	1.00	LS	1.00	\$11,709.80	\$11,709.8
		0071	5008	1094000	FORCE ACCOUNT	0.00	250,000.00	250,000.00	EA	250,000.00	\$1.00	\$250,000.0
		0071	5009	2169901	MISC.MISC. REMOVAL OF CONCRETE WEARING SURFACE	0.00	1.00	1.00	LS	1.00	\$7,000.00	\$7,000.0
		0070	5010	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	0.00	12.00	12.00	SQFT	12.00	\$317.14	\$3,805.6
		0001	5011	6209903	MISC.CONTRAST PAVEMENT MARKING	0.00	280.00	280.00	LF	280.00	\$1.50	\$420.0
	Project J		otal Value	Posted to D	Pate as of Report Generated Date							\$2,558,289.5
	J5S3464	0001	0600	6113020	FURNISHING TYPE 2 ROCK BLANKET	104.00	0.00	104.00	CUYD	104.00	\$41.55	\$4,321.2
		0001	0610	6113040	PLACING TYPE 2 ROCK BLANKET	10100		101.00	CUYD	104.00	\$31.52	\$3,278.0
				0110010	LACING TITL 2 NOOK BLANKLT	104.00	0.00	104.00		101.00		
		0001	0620	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	4.00	0.00	4.00	EA	2.00	\$3,390.73	\$6,781.4
		0001	0620 0630								\$3,390.73 \$339.07	
				6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	4.00	0.00	4.00	EA	2.00		\$0.0
		0001	0630	6122014 6122020	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL	4.00	0.00	4.00	EA EA	2.00	\$339.07	\$0.0 \$0.0
		0001	0630 0640	6122014 6122020 6122030	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL IMPACT ATTENUATOR (RELOCATION)	4.00 4.00 4.00	0.00 0.00 0.00	4.00 4.00 4.00	EA EA	2.00 0.00 0.00	\$339.07 \$1,695.36	\$0.0 \$0.0 \$11,302.4
		0001 0001 0001	0630 0640 0650	6122014 6122020 6122030 6123000A	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL IMPACT ATTENUATOR (RELOCATION) TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00 4.00 4.00 2.00	0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00	EA EA EA	2.00 0.00 0.00 1.00	\$339.07 \$1,695.36 \$11,302.42	\$0.0 \$0.0 \$11,302.4 \$2,133.4
		0001 0001 0001 0001	0630 0640 0650 0660	6122014 6122020 6122030 6123000A 6161005	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)  REPLACEMENT SAND BARREL  IMPACT ATTENUATOR (RELOCATION)  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS	4.00 4.00 4.00 2.00 285.00	0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00	EA EA EA SQFT	2.00 0.00 0.00 1.00 236.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04	\$0.0 \$0.1 \$11,302.4 \$2,133.4 \$452.0
		0001 0001 0001 0001 0001	0630 0640 0650 0660 0670	6122014 6122020 6122030 6123000A 6161005 6161008	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)  REPLACEMENT SAND BARREL  IMPACT ATTENUATOR (RELOCATION)  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS  ADVANCED WARNING RAIL SYSTEM  CHANNELIZER (TRIM LINE)  CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	4.00 4.00 4.00 2.00 285.00 6.00	0.00 0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00 6.00	EA EA EA SQFT EA	2.00 0.00 0.00 1.00 236.00 4.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02	\$0.0 \$0.0 \$11,302.4 \$2,133.4 \$452.0 \$497.2
		0001 0001 0001 0001 0001 0001	0630 0640 0650 0660 0670 0680	6122014 6122020 6122030 6123000A 6161005 6161008	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)  REPLACEMENT SAND BARREL  IMPACT ATTENUATOR (RELOCATION)  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS  ADVANCED WARNING RAIL SYSTEM  CHANNELIZER (TRIM LINE)  CHANGEABLE MESSAGE SIGN WITH COMMUNICATION	4.00 4.00 4.00 2.00 285.00 6.00 22.00	0.00 0.00 0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00 6.00 22.00	EA EA EA SQFT EA EA	2.00 0.00 0.00 1.00 236.00 4.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02 \$22.60	\$0.0 \$11,302.4 \$2,133.4 \$452.0 \$497.1
		0001 0001 0001 0001 0001 0001	0630 0640 0650 0660 0670 0680	6122014 6122020 6122030 6123000A 6161005 6161008 6161025 6161099	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)  REPLACEMENT SAND BARREL  IMPACT ATTENUATOR (RELOCATION)  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS  ADVANCED WARNING RAIL SYSTEM  CHANNELIZER (TRIM LINE)  CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00 4.00 4.00 2.00 285.00 6.00 22.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00 6.00 22.00 4.00	EA EA EA SQFT EA EA EA	2.00 0.00 0.00 1.00 236.00 4.00 22.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02 \$22.60 \$2,825.61	\$0.0 \$11,302- \$2,133- \$452- \$497- \$5,651- \$19,666-
		0001 0001 0001 0001 0001 0001 0001	0630 0640 0650 0660 0670 0680 0690	6122014 6122020 6122030 6123000A 6161005 6161008 6161025 6161099 6162000A	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL IMPACT ATTENUATOR (RELOCATION) TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS ADVANCED WARNING RAIL SYSTEM CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED WORK ZONE TRAFFIC SIGNAL SYSTEM TEMPORARY LONG-TERM RUMBLE STRIPS TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED /	4.00 4.00 4.00 2.00 285.00 6.00 22.00 4.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00 6.00 22.00 4.00	EA EA EA SQFT EA EA EA	2.00 0.00 0.00 1.00 236.00 4.00 22.00 2.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02 \$22.60 \$2,825.61	\$0.0 \$11,302. \$2,133. \$452.0 \$497 \$5,651 \$19,666 \$1,808.
		0001 0001 0001 0001 0001 0001 0001 000	0630 0640 0650 0660 0670 0680 0690	6122014 6122020 6122030 6123000A 6161005 6161008 6161025 6161099 6162000A 61620002	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL IMPACT ATTENUATOR (RELOCATION) TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS ADVANCED WARNING RAIL SYSTEM CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED WORK ZONE TRAFFIC SIGNAL SYSTEM TEMPORARY LONG-TERM RUMBLE STRIPS	4.00 4.00 2.00 285.00 6.00 22.00 4.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00 6.00 22.00 4.00	EA EA EA SQFT EA EA EA EA EA	2.00 0.00 1.00 236.00 4.00 22.00 1.00 2.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02 \$22.60 \$2,825.61 \$19,666.21 \$904.19	\$0.0 \$11,302.4 \$2,133.4 \$452.6 \$497.1 \$5,651.1 \$19,666.1 \$1,808.1
		0001 0001 0001 0001 0001 0001 0001 000	0630 0640 0650 0660 0670 0680 0690 0700 0710	6122014 6122020 6122030 6123000A 6161005 6161008 6161025 6161099 6162000A 6162002 6173600D	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL IMPACT ATTENUATOR (RELOCATION) TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS ADVANCED WARNING RAIL SYSTEM CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED WORK ZONE TRAFFIC SIGNAL SYSTEM TEMPORARY LONG-TERM RUMBLE STRIPS TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	4.00 4.00 2.00 285.00 6.00 22.00 4.00 1.00 2.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	4.00 4.00 2.00 285.00 6.00 22.00 4.00 1.00 2.00	EA EA EA SQFT EA EA EA LF	2.00 0.00 1.00 236.00 4.00 22.00 2.00 1.00 550.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02 \$22.60 \$2,825.61 \$19,666.21 \$904.19 \$27.13	\$0.0 \$11,302.4 \$2,133.4 \$452.1 \$497.2 \$5,651.2 \$1,808.3 \$14,921.4 \$10,565.3
		0001 0001 0001 0001 0001 0001 0001 000	0630 0640 0650 0660 0670 0680 0690 0700 0710 0720	6122014 6122020 6122030 6123000A 6161005 6161008 6161025 6161099 6162000A 6162002 6173600D	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY) REPLACEMENT SAND BARREL IMPACT ATTENUATOR (RELOCATION) TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS ADVANCED WARNING RAIL SYSTEM CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED WORK ZONE TRAFFIC SIGNAL SYSTEM TEMPORARY LONG-TERM RUMBLE STRIPS TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	4.00 4.00 2.00 285.00 6.00 22.00 4.00 1.00 550.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	4.00 4.00 4.00 2.00 285.00 6.00 22.00 4.00 1.00 2.00 550.00	EA EA EA SQFT EA EA EA EA LF	2.00 0.00 1.00 236.00 4.00 22.00 2.00 1.00 550.00	\$339.07 \$1,695.36 \$11,302.42 \$9.04 \$113.02 \$22.60 \$2,825.61 \$19,666.21 \$904.19 \$27.13	\$6,781.4 \$0.0 \$11,302.4 \$2,133.4 \$452.0 \$497.2 \$5,651.2 \$11,808.3 \$14,921.5 \$251,808.8

Revision 3/23/2023 Page 6 of 17



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
10119-D03	J5S3464	0001	0770	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	24.00	0.00	24.00	LF	24.00	\$113.02	\$2,712.48
		0001	0780	6207001	PAVEMENT MARKING REMOVAL	15,068.00	0.00	15,068.00	LF	15,068.00	\$1.13	\$17,026.84
		0001	0790	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	156.00	0.00	156.00	SQYD	156.00	\$5.21	\$812.76
		0001	0800	8059901	MISC.SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	LS	1.00	\$5,651.21	\$5,651.21
		0001	0810	8061016	SEDIMENT REMOVAL	5.00	0.00	5.00	CUYD	0.00	\$426.06	\$0.00
		0001	0820	8061019	SILT FENCE	525.00	0.00	525.00	LF	310.00	\$3.62	\$1,122.20
		0070	0830	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	2.00	0.00	2.00	SQFT	2.00	\$1,356.29	\$2,712.58
		0070	0840	2163502	PARTIAL REMOVAL OF SUBSTRUCTURE CONCRETE	1.00	0.00	1.00	LS	1.00	\$67,553.09	\$67,553.09
		0070	0850	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	44.00	0.00	44.00	LF	44.00	\$1,515.13	\$66,665.72
		0070	0860	2169901	MISC.TEMPORARY FALSEWORK	1.00	0.00	1.00	LS	1.00	\$257,416.66	\$257,416.66
		0070	0870	2169902	MISC.REMOVAL OF EXISTING BEARINGS	12.00	0.00	12.00	EA	12.00	\$114.94	\$1,379.28
		0070	0880	2169903	MISC.REMOVE AND REPLACE BARRIER CURB	11.00	0.00	11.00	LF	11.00	\$1,777.07	\$19,547.77
		0070	0890	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	20.00	0.00	20.00	CUYD	20.00	\$2,464.78	\$49,295.60
		0070	0900	7034214	CLASS B-2 CONCRETE	16.00	0.00	16.00	CUYD	16.00	\$4,696.03	\$75,136.48
		0070	0910	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	10.00	0.00	10.00	SQFT	10.00	\$317.14	\$3,171.40
		0070	0920	7069911	MISC.REINFORCING STEEL (GALVANIZED)	18,370.00	-9,260.00	9,110.00	LB	9,110.00	\$2.46	\$22,410.60
		0070	0930	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$9,267.99	\$0.00
		0070	0940	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$290.82	\$3,489.84
		0070	0950	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	44.00	0.00	44.00	LF	44.00	\$465.74	\$20,492.56
		0001	5004	6122040	WORK ZONE CRASH CUSHION (NARROW)	0.00	0.00	0.00	EA	0.00	\$10,700.00	\$0.00
	Project J	5S3464 - To	tal Value	Posted to D	ate as of Report Generated Date							\$961,253.84
0119-D03 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$3,519,543.39

Revision 3/23/2023 Page 7 of 17



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5P3467

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
5005	1094000	FORCE ACCOUNT	12/12/24	12/16/24	20,000.00	EA	NA					
5008	1094000	FORCE ACCOUNT	12/12/24	12/16/24	150,000.00	EA	NA					

### Project: J5S3464

Line Number	Item Code	Description		DWR Approval Date		Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0730	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	12/12/24	12/16/24	550.00	LM 2.169 to LM 2.079 on Rte. B Work occurred on approximately 10/30/24					

The information below this line are details for Construction Signs (if applicable), No Data Available

Revision 3/23/2023 Page 8 of 17



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3467	0030	TACK COAT	Material		2	Aug 2, 2024	SYSTEM	(\$226.08)	
					3	Aug 16, 2024	SYSTEM	(\$226.08)	
				- Total				(\$452.16)	
			Material - Tota	1				(\$452.16)	
			MaterialCredit		3	Aug 16, 2024	SYSTEM	\$226.08	
					4	Sep 3, 2024	SYSTEM	\$226.08	
				- Total				\$452.16	
			MaterialCredit	- Total				\$452.16	
	0030 -	Total						\$0.00	
	0040	IMPACT ATTENUATOR 60	Overrun	Overrun	2	Aug 2, 2024	SYSTEM	(\$3,390.73)	
		MPH (SAND BARREL ARRAY)			3	Aug 16, 2024	SYSTEM	\$3,390.73	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3390.73000 - 3390.73000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0040 -	Total						\$0.00	
	0060	TRUCK OR TRAILER MOUNTED ATTEN	Material		1	Jul 17, 2024	SYSTEM	\$22,604.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		(TMA)			1	Jul 17, 2024	SYSTEM	(\$22,604.84)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0060 -	Total						\$0.00	
	0070	CONSTRUCTION SIGNS	Material		1	Jul 17, 2024	SYSTEM	\$3,254.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Jul 17, 2024	SYSTEM	(\$3,254.40)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0070 -	Total						\$0.00	
	0090	CHANNELIZER (TRIM LINE)	Overrun	Overrun	1	Jul 17, 2024	SYSTEM	(\$3,141.40)	
					3	Aug 16, 2024	SYSTEM	\$3,141.40	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',22.60000 - 22.60000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0090 -	Total						\$0.00	
	0110	DIRECTIONAL INDICATOR	Overrun	Overrun	1	Jul 17, 2024	SYSTEM	(\$587.76)	
		BARRICADE			3	Aug 16, 2024	SYSTEM	\$587.76	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',73.47000 - 73.47000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0110 -	Total						\$0.00	
	0120	FLASHING ARROW PANEL	Overrun	Overrun	1	Jul 17, 2024	SYSTEM	(\$847.68)	
					3	Aug 16, 2024	SYSTEM	\$847.68	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',847.68000 - 847.68000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0120 -	Total						\$0.00	



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3467	0140	CMS WITH COMMUNICATION INTERFACE,	Material		1	Jul 17, 2024	SYSTEM	\$28,256.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user stokez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		CONT F			1	Jul 17, 2024	SYSTEM	(\$28,256.10)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0140 -	· Total						\$0.00	
	0160	MISC.	Material		1	Jul 17, 2024	SYSTEM	\$15,823.39	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user stokez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					1	Jul 17, 2024	SYSTEM	(\$15,823.39)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0160 -	· Total						\$0.00	
	0170	CONCRETE TRAFFIC	Material		9	Nov 18, 2024	SYSTEM	(\$38,974.78)	
		BARRIER, TYPE A			10	Dec 2, 2024	SYSTEM	(\$38,974.78)	
					11	Dec 16, 2024	SYSTEM	(\$38,974.78)	
				- Total		2021		(\$116,924.34)	
			Material - Tota					(\$116,924.34)	
			MaterialCredit		10	Dec 2, 2024	SYSTEM	\$38,974.78	
					11	Dec 16, 2024	SYSTEM	\$38,974.78	
				- Total		2024		\$77,949.56	
			MaterialCredit					\$77,949.56	
	0170 -	· Total	materialorean	Total				(\$38,974.78)	
	0180	TEMPORARY	Overrun	Overrun	6	Oct 1,	SYSTEM	(\$23,884.71)	
	0.00	TRAFFIC BARRIER, CONT. FURN/RE	Overrain.	01011411	9	2024 Nov 18,	SYSTEM	\$23,884.71	Hait wise board on account of account of a installed account on
									Unit price based on averaged overrun adjustments for installed quantity on all
		TORIVICE			10	2024			previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).
		TORWINE			10		SYSTEM	(\$732.51)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
		TORWINE		Overrun - T		2024 Dec 2,			previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
		TOTAL	Overrun - Tota			2024 Dec 2,		(\$732.51)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
	0180 -		Overrun - Tota			2024 Dec 2,		(\$732.51) (\$732.51)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
	<b>0180</b> - <b>0185</b>	-Total TEMP. TRAF. BARR. STIFF.			otal	2024 Dec 2,		(\$732.51) (\$732.51) (\$732.51)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
		-Total TEMP. TRAF.		al	otal	Dec 2, 2024  Oct 1,	SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
		-Total TEMP. TRAF. BARR. STIFF.		al	otal 6	2024  Dec 2, 2024  Oct 1, 2024  Nov 18,	SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is
		-Total TEMP. TRAF. BARR. STIFF.		al	6 9 10	2024  Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Dec 2,	SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14)	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is
		-Total TEMP. TRAF. BARR. STIFF.		Overrun - T	6 9 10	2024  Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Dec 2,	SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is
	0185	-Total TEMP. TRAF. BARR. STIFF.	Overrun	Overrun - T	6 9 10	2024  Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Dec 2,	SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is
	0185	Total  TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT  Total  6 IN. WHITE HIGH BUILD WATERBORNE	Overrun	Overrun - T	6 9 10	2024  Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Dec 2,	SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00 \$0.00	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is
	0185 -	TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT  Total 6 IN. WHITE HIGH BUILD	Overrun - Tota	Overrun - T	6 9 10 ootal	2024  Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Dec 2, 2024  Nov 4,	SYSTEM SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00 \$0.00 \$0.00	previous payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is applied (if non-zero).  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user stokez1 overridding Payment
	0185 -	Total  TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT  Total  6 IN. WHITE HIGH BUILD WATERBORNE	Overrun - Tota	Overrun - T	6 9 10 ootal 8	2024 Dec 2, 2024 Oct 1, 2024 Nov 18, 2024 Dec 2, 2024 Nov 4, 2024 Nov 4, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00 \$0.00 \$0.00 \$0.00 \$4,372.20	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is applied (if non-zero).  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user stokez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 7 on the current Payment Estimate.
	0185 -	Total  TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT  Total  6 IN. WHITE HIGH BUILD WATERBORNE	Overrun - Tota	Overrun - T	6 9 10 otal 8 8	Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Nov 4, 2024  Nov 4, 2024  Nov 18, 2024  Nov 18, 2024	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00 \$0.00 \$0.00 \$4,372.20	Drevious payment estimates. Price Adjustments of ',27.13000 - 27.13000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is applied (if non-zero).  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user stokez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment
	0185 -	Total  TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT  Total  6 IN. WHITE HIGH BUILD WATERBORNE	Overrun - Tota	Overrun - T	6 9 10 Dtal 8 8 9 9	Dec 2, 2024  Oct 1, 2024  Nov 18, 2024  Nov 4, 2024  Nov 4, 2024  Nov 18, 2024	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$732.51) (\$732.51) (\$732.51) (\$732.51) (\$1,779.86) (\$311.14) \$2,091.00 \$0.00 \$0.00 \$0.00 \$4,372.20 (\$4,372.20) \$9,323.13	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',41.82000 - 41.82000, 'is applied (if non-zero).  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user stokez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 7 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3467	0210	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material - Tota					\$0.00	
	0210 -	Total						\$0.00	
	0220	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		8	Nov 4, 2024	SYSTEM	\$3,804.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user stokez1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
		PAINT			8	Nov 4, 2024	SYSTEM	(\$3,804.30)	
					9	Nov 18, 2024	SYSTEM	\$6,672.97	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					9	Nov 18, 2024	SYSTEM	(\$6,672.97)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0220 -	Total						\$0.00	
	0230	12 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		9	Nov 18, 2024	SYSTEM	\$1,493.95	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user stokez1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
		FAINT			9	Nov 18, 2024	SYSTEM	(\$1,493.95)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0230 -							\$0.00	
	0240	PAVEMENT MARKING REMOVAL	Overrun	Overrun		Oct 1, 2024	SYSTEM	(\$179.67)	
					10	Dec 2, 2024	SYSTEM	\$179.67	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1.13000 - 1.13000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0240 -	Total						\$0.00	
	0250	4 IN TEMPORARY PAVEMENT MARKING PAINT	Material		1	Jul 17, 2024	SYSTEM	\$3,890.59	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					1	Jul 17, 2024	SYSTEM	(\$3,890.59)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Overrun	Overrun		Oct 1, 2024	SYSTEM	(\$179.67)	
					10	Dec 2, 2024	SYSTEM	\$179.67	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1.13000 - 1.13000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - Tota	1				\$0.00	
	0250 - 0270	SH-FLAT SHEET	Material		2	Aug 2, 2024	SYSTEM	\$0.00 \$508.65	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment
					2	Aug 2,	SYSTEM	(\$508.65)	Estimate Exception 3 on the current Payment Estimate.
					2 Aug 2024 3 Aug 2024		SYSTEM	(\$508.65)	
				- Total				(\$508.65)	
			Material - Tota					(\$508.65)	
			MaterialCredit		4	Sep 3, 2024	SYSTEM	\$508.65	
				- Total				\$508.65	
			MaterialCredit	- Total				\$508.65	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3467	0270 -	Total						\$0.00	
	0280	SHF-FLAT SHEET FLUORESCENT	Material		2	Aug 2, 2024	SYSTEM	\$4,526.54	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Aug 2, 2024	SYSTEM	(\$4,526.54)	
					3	Aug 16, 2024	SYSTEM	(\$4,526.54)	
				- Total				(\$4,526.54)	
			Material - Tota	1				(\$4,526.54)	
			MaterialCredit		4	Sep 3, 2024	SYSTEM	\$4,526.54	
				- Total				\$4,526.54	
			MaterialCredit	- Total				\$4,526.54	
	0280 -	Total						\$0.00	
	0320	REMOVAL OF EXISTING DECK	Overrun	Overrun	2	Aug 2, 2024	SYSTEM	(\$1,091.61)	
		REPAIR			3	Aug 16, 2024	SYSTEM	\$1,091.61	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',40.43000 - 40.43000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0320 -	Total						\$0.00	
	0350	SUPPLEMENTARY WEARING SURFACE	Material		5	Sep 16, 2024	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		MATERIAL			5	Sep 16, 2024	SYSTEM	(\$7,000.00)	
					6	Oct 1, 2024	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Oct 1, 2024	SYSTEM	(\$7,000.00)	
					7	Oct 16, 2024	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	(\$7,000.00)	
					8	Nov 4, 2024	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stoke21 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Nov 4, 2024	SYSTEM	(\$7,000.00)	
					9	Nov 18, 2024	SYSTEM	\$16,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stoke21 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Nov 18, 2024	SYSTEM	(\$16,800.00)	
					10	Dec 2, 2024	SYSTEM	\$16,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Dec 2, 2024	SYSTEM	(\$16,800.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Overrun	Overrun	5	Sep 16, 2024	SYSTEM	(\$3,500.00)	
					9	Nov 18, 2024	SYSTEM	(\$9,800.00)	
					10	Dec 2, 2024	SYSTEM	\$13,300.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',700.00000 - 700.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3467	0350 -	Total						\$0.00	
	0360	LATEX MODIFIED CONCRETE WEARING SURFACE	Material		5	Sep 16, 2024	SYSTEM	\$106,139.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		SURFACE			5	Sep 16, 2024	SYSTEM	(\$106,139.25)	
					6	Oct 1, 2024	SYSTEM	\$106,139.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Oct 1, 2024	SYSTEM	(\$106,139.25)	
					7	Oct 16, 2024	SYSTEM	\$106,139.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	(\$106,139.25)	
					8	Nov 4, 2024	SYSTEM	\$212,278.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Nov 4, 2024	SYSTEM	(\$212,278.50)	
					9	Nov 18, 2024	SYSTEM	\$212,278.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					9	Nov 18, 2024	SYSTEM	(\$212,278.50)	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
					10	Dec 2, 2024	SYSTEM	\$212,278.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Dec 2, 2024	SYSTEM	(\$212,278.50)	Estimate exception 4 on the current Payment Estimate.
				- Total		2021		\$0.00	
			Material - Tota					\$0.00	
	0360 -	· Total						\$0.00	
	0470	REMOVAL OF EXISTING DECK REPAIR	Overrun	Overrun	2	Aug 2, 2024	SYSTEM	(\$5,983.64)	
		KLPAIK			3	Aug 16, 2024	SYSTEM	\$5,983.64	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',40.43000 - 40.43000, 'is
									applied (if non-zero).
				Overrun - T	otal			\$0.00	appilea (ir non-zero).
			Overrun - Tota		otal			\$0.00 \$0.00	appilea (ir non-zero).
	0470 -	·Total	Overrun - Tota		otal				appiled (if non-zero).
		SUPPLEMENTARY WEARING SURFACE			otal 5	Sep 16, 2024	SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stoke21 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		SUPPLEMENTARY WEARING					SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5	2024 Sep 16,		\$0.00 \$0.00 \$28,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5	2024 Sep 16, 2024 Oct 1,	SYSTEM	\$0.00 \$0.00 \$28,000.00 (\$28,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5 6	2024 Sep 16, 2024 Oct 1, 2024	SYSTEM	\$0.00 \$0.00 \$28,000.00 (\$28,000.00) \$28,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5 5 6	2024 Sep 16, 2024 Oct 1, 2024 Oct 1, 2024 Oct 16, 2024 Oct 16, 2024	SYSTEM SYSTEM	\$0.00 \$0.00 \$28,000.00 (\$28,000.00) \$28,000.00 (\$28,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5 5 6 6	2024 Sep 16, 2024 Oct 1, 2024 Oct 1, 2024 Oct 16, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$28,000.00 (\$28,000.00) \$28,000.00 (\$28,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5 5 6 7	2024 Sep 16, 2024 Oct 1, 2024 Oct 16, 2024 Oct 16, 2024 Nov 4,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$28,000.00 (\$28,000.00) \$28,000.00 (\$28,000.00) (\$28,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment
		SUPPLEMENTARY WEARING SURFACE			5 5 6 7 7	2024 Sep 16, 2024 Oct 1, 2024 Oct 16, 2024 Oct 16, 2024  Nov 4, 2024 Nov 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$28,000.00 (\$28,000.00) \$28,000.00 (\$28,000.00) (\$28,000.00) \$28,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment



:t	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
67 (	0500	SUPPLEMENTARY	Material			2024			
		WEARING SURFACE MATERIAL			10	Dec 2, 2024	SYSTEM	\$72,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Dec 2, 2024	SYSTEM	(\$72,800.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
			Overrun	Overrun	5	Sep 16, 2024	SYSTEM	(\$22,400.00)	
					9	Nov 18, 2024	SYSTEM	(\$44,800.00)	
					10	Dec 2, 2024	SYSTEM	\$67,200.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',700.00000 - 700.00000, 'is
									applied (if non-zero).
				Overrun - To	otal			\$0.00	
	0.000		Overrun - Tota	ı				\$0.00	
	0500 -							\$0.00	
(	0510	LATEX MODIFIED CONCRETE WEARING SURFACE	Material		5	Sep 16, 2024	SYSTEM	\$188,422.44	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		CONTROL			5	Sep 16, 2024	SYSTEM	(\$188,422.44)	
					6	Oct 1, 2024	SYSTEM	\$188,422.44	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Oct 1, 2024	SYSTEM	(\$188,422.44)	
					7	Oct 16, 2024	SYSTEM	\$188,422.44	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	(\$188,422.44)	
					8	Nov 4, 2024	SYSTEM	\$376,844.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Nov 4, 2024	SYSTEM	(\$376,844.88)	
					9	Nov 18, 2024	SYSTEM	\$376,844.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user stokez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					9	Nov 18, 2024	SYSTEM	(\$376,844.88)	
					10	Dec 2, 2024	SYSTEM	\$376,844.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user stokez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	Dec 2, 2024	SYSTEM	(\$376,844.88)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0510 -	Total						\$0.00	
(	0550	HALF-SOLE REPAIR	Material		3	Aug 16, 2024	SYSTEM	\$84,850.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Aug 16, 2024	SYSTEM	(\$84,850.35)	
					4	Sep 3, 2024	SYSTEM	\$84,850.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Sep 3, 2024	SYSTEM	(\$84,850.35)	
				- Total				\$0.00	
			Material - Tota					\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J5P3467	5002	MISC.	Material	Туре	2		SYSTEM	(\$12,647.10)	
J3F3407	3002	IVII3C.	iviateriai		2	Aug 2, 2024	STOTEM	(\$12,047.10)	
				- Total				(\$12,647.10)	
			Material - Tota	l				(\$12,647.10)	
			MaterialCredit		3	Aug 16, 2024	SYSTEM	\$12,647.10	
				- Total				\$12,647.10	
			MaterialCredit	- Total				\$12,647.10	
			Overrun	Overrun	2	Aug 2, 2024	SYSTEM	(\$2,529.42)	
					3	Aug 16, 2024	SYSTEM	\$2,529.42	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1686.28000 - 1686.28000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ı				\$0.00	
	5002 -	Total	0.0.0.0.0					\$0.00	
	5006	WORK ZONE CRASH CUSHION	Overrun	Overrun	9	Nov 18, 2024	SYSTEM	(\$10,700.00)	
		(NARROW)			10	Dec 2, 2024	SYSTEM	\$10,700.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',10700.00000 - 10700.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	10100.00000, 10 applied (ii 11011 2010).
			Overrun - Tota		Otal			\$0.00	
	5006 -	Total	Overruii - Tota	"					
JED0407		Total						\$0.00	
J5P3467 -		FURNIOUNIA			40	D 0	0)/07514	(\$39,707.29)	
J5S3464	0600	FURNISHING TYPE 2 ROCK BLANKET	Material		10	Dec 2, 2024	SYSTEM	\$4,321.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user stokez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					10	Dec 2, 2024	SYSTEM	(\$4,321.20)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0600 -	Total						\$0.00	
	0750	4 IN. WHITE WATERBORNE PAVEMENT	Material		6	Oct 1, 2024	SYSTEM	\$2,128.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user stokez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		MARKING			6	Oct 1, 2024	SYSTEM	(\$2,128.40)	
					7	Oct 16, 2024	SYSTEM	\$2,128.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user stokez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	(\$2,128.40)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0750	Total						\$0.00	
	0760	4 IN. YELLOW WATERBORNE	Material		6	Oct 1, 2024	SYSTEM	\$2,260.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user stokez1 overridding Payment
		PAVEMENT MARKING			6	Oct 1, 2024	SYSTEM	(\$2,260.00)	Estimate Exception 8 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	\$2,260.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	(\$2,260.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0760 -	Total	matorial Tota					\$0.00	
	0760 -	24 IN. WHITE	Material		6	Oct 1,	SYSTEM	\$2,712.48	This adjustment offsets the original system-generated Material Payment
		WATERBORNE PAVEMENT				2024		,20	Estimate Item Adjustment (0013) due to user stokez1 overridding Payment Estimate Exception 10 on the current Payment Estimate.

Dec 18, 2024



## Line Item Adjustments by Estimate

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3464	0770	MARKING	Material		6	Oct 1, 2024	SYSTEM	(\$2,712.48)	
					7	Oct 16, 2024	SYSTEM	\$2,712.48	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user stokez1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					7	Oct 16, 2024	SYSTEM	(\$2,712.48)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0770 -	Total						\$0.00	
	0800	MISC. SEEDING	Material		10	Dec 2, 2024	SYSTEM	\$5,651.21	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user stokez1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					10	Dec 2, 2024	SYSTEM	(\$5,651.21)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0800 -	Total						\$0.00	
	0820	SILT FENCE	Material		6	Oct 1, 2024	SYSTEM	(\$1,122.20)	
					7	Oct 16, 2024	SYSTEM	(\$1,122.20)	
				- Total				(\$2,244.40)	
			Material - Tota	l				(\$2,244.40)	
			MaterialCredit		7	Oct 16, 2024	SYSTEM	\$1,122.20	
					8	Nov 4, 2024	SYSTEM	\$1,122.20	
				- Total				\$2,244.40	
			MaterialCredit	- Total				\$2,244.40	
	0820 - 0880	MISC. REMOVALS	Material		8	Nov 4, 2024	SYSTEM	\$0.00 (\$9,773.88)	
				- Total		2024		(\$9,773.88)	
			Material - Tota					(\$9,773.88)	
			MaterialCredit		9	Nov 18, 2024	SYSTEM	\$9,773.88	
				- Total				\$9,773.88	
			MaterialCredit	- Total				\$9,773.88	
	0880 -	Total						\$0.00	
	0920	REINFORCING STEEL FOR	Material		7	Oct 16, 2024	SYSTEM	\$5,771.16	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user stokez1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
		CONCRETE			7	Oct 16, 2024	SYSTEM	(\$5,771.16)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0920 -	Total						\$0.00	
464 -	Total							\$0.00	
all - 1	Γotal							(\$39,707.29)	

## MoDOT

## Contract Adjustments for Contract - 240119-D03

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 17 of 17